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Question Number : 1 Question Id : 288607901 Question Type: MCQ Option Shuffling : No

Correct Marks: 1 WrongMarks: 0



Which University started the B.Lib. course first in India?

(A) Banaras Hindu University
(B) University of Delhi

(C) University of Madras

(D) Aligarh Muslim University

Options:

2886073589. 1
2886073590. 2
2886073591. 3
2886073592. 4

Question Number : 2 Question Id : 288607902 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

RSS feed is an application of:

(A) Web 1.0
(B) Web 2.0
(C) Web 3.0
(D) None of these

Options:

2886073593. 1
2886073594. 2
2886073595. 3
2886073596. 4

Question Number : 3 Question Id : 288607903 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Shodhganga is a national level repository of:

(A) E-Journals
(B) E-Books

(C) E-Theses

(D) E-Newsletters

Options:

2886073537. 1
2886073598. 2
2886073599. 3



2886073600. 4

Question Number : 4 Question Id : 288607904 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

A trial set of electronic resources is generally associated with which step of the life cycle
of electronic resources?

(A) Investigation
(B) Implementation
(C) Review

(D) Preservation

Options:

2886073601. 1
2886073602. 2
2886073603. 3
2886073604. 4

Question Number : 5 Question Id : 288607905 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Learning Management System (LMS) is also known as:

(A) Content Management System
(B) Virtual Learning Environment
(C) Reference Management System
(D) Database Management System

Options:

2886073605. 1
28860736006. 2
2886073607. 3
2886073608. 4

Question Number : 6 Question Id : 288607906 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

Who is the creator of OpenURL?

(A) Tim Bemers Lee

(B) Herbert Van de Sompel
(C) Alan Harvey Guth

(D) Georges Lemaitre

Options:



2886073609. 1
2886073610. 2
2886073611. 3
2886073612. 4

Question Number : 7 Question Id : 288607907 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0

SCOAP standsfor

(A) Sponsoring Consortium for Open Access Publishing in Partial Physics
(B) Sponsoring Consortium for Online Access Publishing in Particle Physics
(C) Sponsoring Consortium for Open Access Publishing in Particle Physics
(D) Sponsoring Consortium for Online Access Publishing in Partial Physics

Options:

2886073613. 1
2886073614, 2
2886073615. 3
2686073616. 4

Question Number : 8 Question Id : 288607908 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0

Where is the World’s first 3D-printed office building located?

(A) London

(B) Spain
(C) Dubai
(D) Australia

Options:

2886073617. 1
2886073618. 2
2886073619. 3
2886073620. 4

Question Number : 9 Question Id : 288607909 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0



DELNETisa

(A) Local Area Network
(B) National Network
(C) Regional Network
(D) Wide Area Network

Options:

2886073621. 1
2886073622 2
2886073623. 3
2886073624. 4

Question Number : 10 Question Id : 288607910 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Which of the following is a cloud-based service model and provides secured access to
scattered e-Resources?

(A) Shibboleth

(B) RemoteXs

(C) EZproxy

(D) None of the above

Options:

2886073625. 1
2886073626. 2
2686073627. 3
2886073628. 4

Question Number : 11 Question Id : 288607911 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

COUNTER isrelated to

(A) Citation Analysis of Resources
(B) Usage Statistics of Resources
(C) H-Index

(D) I-Index

Options:

2886073629. 1
2886073630. 2
2886073631. 3



2886073632. 4

Question Number : 12 Question Id : 288607912 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Liblicense has been designed by:

(A) CRL
(B) ARL
(C) IFLA
(D) ESS

Options:

2886073633. 1
2886073634. 2
2686073635. 3
2886073636. 4

Question Number : 13 Question Id : 288607913 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

When a librarian has to show the rationale for the purchase of more e-resources, which of
the following/s will help to support his/her stand?

(A) Collection development policy
(B) Indent from users
(C) Book selection tools

(D) Both (A) and (B)

Options:

2886073637. 1
2886073638. 2
2886073639. 3
2886073640. 4

Question Number : 14 Question Id : 288607914 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

Applications of VPN and EZproxy in the library are associated with:
(A) Remote Access to E-Resources
(B) Online Public Access Catalogue

(C) Online Cataloguing
(D) Remote Cataloguing

Options:



2886073641. 1
2886073642. 2
2886073643. 3
2886073644. 4

Question Number : 15 Question Id : 288607915 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

In which of the following purchase model, the library has the flexibility to choose the
eBook(s) for procurement?

(A) Demand-Driven Acquisition Model

(B) Evidence-Based Acquisition Model

(C) Pick and Choose (Perpetual) Acquisition Model
(D) Subscription-based Acquisition Model

Options:

2886073645. 1
2886073646. 2
2886073647. 3
2886073648. 4

Question Number : 16 Question Id : 288607916 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Thesaurus should generally be considered as an important feature of which ofthe
following?

(A) Content

(B) Search and Retrieval

(C) Exporting and Downloading
(D) Preservation

Options:

2886073649. 1
2886073650. 2
2886073651. 3
2886073652. 4

Question Number : 17 Question Id : 288607917 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0



Which of the following is TRUE in case of an authentication method for accessing
eBooks?

(A) IP based authentication

(B) User name & password-based authentication
(C) Both (A) and (B)

(D) Neither (A) nor (B)

Options:

2886073653. 1
2886073654. 2
2886073655, 3
2886073656. 4

Question Number : 18 Question Id : 288607918 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

The process by which a library checks the existing duplicate e-resources is knownas

(A) Problem log analysis
(B) Sustainability check
(C) Indemnification
(D) Overlap analysis

Options:

2886073657. 1
2886073658. 2
2886073659, 3
2886073660. 4

Question Number : 19 Question Id : 288607919 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

A QR code is capable of storing up to how many characters in one symbol?
(A) 7087

(B) 7088
(C) 7089

(D) 7090

Options:

2886073661. 1
2886073662. 2
2886073663 3



2886073664. 4

Question Number : 20 Question Id : 288607920 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

is an expert system which has been designed as a referral tool to be used in
public libraries.

(A) Plexus

(B) Pointer

(C) NavBot

(D) RefWorks ProQuest

Options:

28860736065. 1
2886073666. 2
2686073667. 3
2886073668. 4

Question Number : 21 Question Id : 288607921 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

AJAX stands for

(A) Advanced JSP and XML

(B) Asynchronous Javascript and XML
(C) AsynchronousJSP and XML

(D) Advanced Javascript and XML

Options:

2886073669. 1
2886073670. 2
2886073671. 3
2886073672. 4

Question Number : 22 Question Id : 288607922 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

The word “podcast™ is derived from:

(A) 1Pod and Vodcast
(B) 1Pad and Broadcast
(C) iPodand Broadcast
(D) Noneofthe above

Options:



2886073673. 1
2886073674. 2
2886073675. 3
2886073676. 4

Question Number : 23 Question Id : 288607923 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Which of the following is NOT an example of a web-scale discovery service?

(A) Ex Libris Primo

(B) Summon-Serial Solutions

(C) EBSCO Discovery Service (EDS)
(D) DBpedia

Options:

2886073677.1
2886073678. 2
2886073679, 3
2886073680. 4

Question Number : 24 Question Id : 288607924 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Powerset and Evriare

(A) Web-Scale Discovery Services

(B) Semantic Search Tools and Databases
(C) Meta-Search Engines

(D) General Search Engines

Options:

2886073681. 1
2886073682. 2
2886073683. 3
2886073684. 4

Question Number : 25 Question Id : 288607925 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0



Which of the following is an example of collaborative information and a database?

(A) Technorati
(B) Scirus
(C) Rollyo
(D) CORE

Options:

2886073685. 1
2886073686. 2
2886073687. 3
2686073688. 4

Question Number : 26 Question Id : 288607926 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

When did Mario W. Cardullo receive the first U.S. patent for an active RFID tag?

(A) April 23,1973
(B) January 23, 1973
(C) January 23, 1974
(D) April 23,1974

Options:

2886073689. 1
2886073690. 2
2886073691. 3
2886073692. 4

Question Number : 27 Question Id : 288607927 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Looker and Zoho analytics are related to:

(A) Data License Software

(B) Data Pre-Processing Software
(C) Data Prediction Software

(D) Data Visualization Software

Options:

2886073693. 1
2886073694. 2
2886073695. 3



2886073696. 4

Question Number : 28 Question Id : 288607928 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Which of the following is NOT a plagiarism detection platform?

(A) Turnitin
(B) EndNote
(C) iThenticate
(D) WriteCheck

Options:

2886073697. 1
2886073698. 2
2886073699. 3
2886073700. 4

Question Number : 29 Question Id : 288607929 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

In which year. Shibboleth software version 3.0.0.11(Windows Only) was released?

(A) 2015

(B) 2016
(C) 2017

(D) 2018

Options:

2886073701. 1
2886073702 2
2886073703. 3
2886073704. 4

Question Number : 30 Question Id : 288607930 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Which of the following standard is a part of networking protocols?

(A) IEEE 801.2X
(B) IEEE 802.1X
(C) IEEE 803.3X
(D) IEEE 804.2X

Options:

2886073705. 1



2886073706. 2
2886073707. 3
2886073708. 4

Question Number : 31 Question Id : 288607931 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

How to calculate Citations Per Publication (CPP)?

(A) Total Citations Received/Total Papers

(B) Total Citations Sent/Total Papers

(C) Total Citations Sent/Citation Per Paper

(D) Total Citations Received/Citation Per Paper

Options:

2886073709. 1
2886073710. 2
2886073711. 3
2886073712. 4

Question Number : 32 Question Id : 288607932 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Trove Australian Newspaper Digitization Project of the National Library of Australia is
an example of:

(A) Newspaper Clipping Service
(B) World Memory Project

(C) Crowdiunding

(D) Crowdsourcing

Options:

2886073713. 1
2886073714. 2
2886073715. 3
2686073716. 4

Question Number : 33 Question Id : 288607933 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0



Sensor is a/an component and it collects surrounding information.

(A) Input

(B) Output
(C) Storage
(D) None of the above

Options:

2886073717. 1
2886073718. 2
2886073719. 3
2886073720. 4

Question Number : 34 Question Id : 288607934 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

One Zettabyte (ZB) equals to:

(A) 10005 bytes

(B) 1000° bytes
(C) 10007 bytes

(D) 10008 bytes

Options:

2886073721. 1
2886073722, 2
2886073723. 3
2886073724. 4

Question Number : 35 Question Id : 288607935 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Which one is the correct order for Research Data Management (RDM) life cycle?

(A) Create > Plan > Process > Analyze > Disseminate > Preserve > Reuse
(B) Plan = Create > Process = Analyze > Disseminate > Preserve > Reuse
(C) Plan = Create > Process > Analyze > Preserve > Disseminate > Reuse
(D) Plan = Create > Analyze > Process > Disseminate > Preserve > Reuse

Options:

2886073725.1
2886073726. 2
2886073727. 3



2886073728. 4

Question Number : 36 Question Id : 288607936 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Which one of the following is NOT related to the Creative Commons (CC) license?
(A) BY-SA
(B) BY-ND
(C) BY-DN
(D) BY-NC

Options:

2886073729.1
2886073730. 2
2886073731. 3
2886073732. 4

Question Number : 37 Question Id : 288607937 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: 0

Which one of the following is the proprietary Content Management System (CMS)?

(A) Concretes
(B) TYPO3
(C) Drupal
(D) Kentico

Options:

2886073733. 1
2886073734. 2
2886073735. 3
2886073736. 4

Question Number : 38 Question Id : 288607938 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

In a connected graph. ofanodeis a measure of centrality in a network,

calculated as the sum of the length of the shortest paths between the node and all other
nodes in the graph.

(A) Betweenness
(B) Degree

(C) Closeness
(D) Eigenvector

Options:



2886073737.1
2886073738. 2
2886073739. 3
2886073740. 4

Question Number : 39 Question Id : 288607939 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

When did NPTEL begin offering open online courses or MOOCs?

(A) 2018

(B) 2016
(C) 2014

(D) 2012

Options:

2886073741. 1
2886073742 2
2886073743. 3
2886073744. 4

Question Number : 40 Question Id : 288607940 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

Libcrowds is a ‘Crowdsourcing’ initiative of:

(A) Library of Congress

(B) UNICEF

(C) British Library

(D) National Library of India

Options:

2886073745. 1
2886073746. 2
2686073747. 3
2886073748. 4

Question Number : 41 Question Id : 288607941 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0



Which service of SHERPA is involved in copyright and open access self-archiving
policies for academic journals?

(A) SHERPA/FACT
(B) SHERPA/Juliet
(C) SHERPA/RoMEO
(D) None of the above

Options:

2886073749. 1
2886073750. 2
2886073751. 3
2886073752. 4

Question Number : 42 Question Id : 288607942 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

CiteSpace and Pajek are examples of:

(A) Reference Management Tools
(B) Content Management Tools
(C) Network Analysis Tools

(D) Text Mining Tools

Options:

2886073753. 1
2886073754, 2
2886073755. 3
2886073756. 4

Question Number : 43 Question Id : 288607943 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

In which year, the Journal Rankings and Impact Factor (IF) metrics were introduced by
the Science Citation Index?

(A) 1991

(B) 1964
(C) 1972

(D) 1986

Options:

2886073757. 1
2886073758. 2



2886073759. 3
2886073760. 4

Question Number : 44 Question Id : 288607944 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Which one of the following is commonlyused for the discovery of the OER repository?
(A) COL-DOER
(B) OER Commons

(C) Wikimedia Commons
(D) All of the above

Options:

2886073761. 1
2886073762. 2
2686073763. 3
2886073764. 4

Question Number : 45 Question Id : 288607945 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Who created the General Problem Solver (GPS)?

(A) McCarthy

(B) Alan Turing

(C) Simon. Shaw & Newell
(D) Noneofthe above

Options:

2886073765. 1
2886073766. 2
2886073767, 3
2886073768. 4

Question Number : 46 Question Id : 288607946 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Which of the following HTML tag defines a row in an HTML table?

(A) <tr=
(B) <td>
(C) <th>
(D) <tt>

Options:



2886073769. 1
2886073770. 2
2886073771. 3
2886073772. 4

Question Number : 47 Question Id : 288607947 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

QR code symbolis surrounded by which zone on all four sides?

(A) Quiet Zone

(B) Separators
(C) Data Zone
(D) Finder

Options:

2886073773.1
2886073774. 2
2886073775. 3
2886073776. 4

Question Number : 48 Question Id : 288607948 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

BIOSIS Previewsisa

(A) Semantic Network Service

(B) Bibliographic Database Service
(C) All of the Above

(D) None of the above

Options:

2886073777. 1
2886073778. 2
2886073779. 3
2886073780. 4

Question Number : 49 Question Id : 288607949 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0



The example(s) of Natural Language Processing (NLP) include(s):

(A) Spell check

(B) Autocomplete

(C) Both (A) and (B)
(D) Neither (A) nor (B)

Options:

2886073781. 1
2886073782. 2
2886073783. 3
2886073784. 4

Question Number : 50 Question Id : 288607950 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Mendeley and Zotero are

(A) Crowdfunding sites

(B) Reference management tools
(C) Database Management System
(D) Content Management System

Options:

2886073785. 1
2886073786. 2
2886073787. 3
2886073788. 4

Question Number : 51 Question Id : 288607951 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

CyberAlert 5.0 is associated with

(A) Online media/ news monitoring service
(B) Family cyber alert

(C) Security alert software

(D) Malware

Options:

2886073789. 1
2886073730. 2
2886073791. 3



2886073792. 4

Question Number : 52 Question Id : 288607952 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Mention the name of the OER portal that supports the international community of
educators. learners, and researchers.

(A) Dgroups.org
(B) ePathshala

(C) e-PG Pathshala
(D) MERLOT

Options:

2886073793. 1
2886073794. 2
2886073735. 3
2886073796. 4

Question Number : 53 Question Id : 288607953 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

ICADR stands for

(A) International Centre for Alternative Display Resolution
(B) International Centre for Alternative Dispute Resolution
(C) International Centre for Access Digital Resource

(D) International Centre for Alternative Digital Repository

Options:

2886073737.1
2886073798. 2
2886073739. 3
2886073800. 4

Question Number : 54 Question Id : 288607954 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

“Average Cost of article per download” is used to get:

(A) Usage statistics of e-Resources
(B) Access of databases

(C) Retrospective access

(D) Return on Investment

Options:



2886073801. 1
2886073802. 2
2886073803. 3
2886073804. 4

Question Number : 55 Question Id : 288607955 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Chemical Abstracts Service is now available as:

(A) SciFinder Scholar
(B) IndiaState.com
(C) Bloomberg

(D) CMIE

Options:

2886073805. 1
28860738006. 2
2886073807. 3
2886073808. 4

Question Number : 56 Question Id : 288607956 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

What is the name of the technology that barcode generally use?

(A) Laser

(B) Radio Waves

(C) Infrared Waves
(D) None of the above

Options:

2886073809. 1
2886073810. 2
2686073811. 3
2886073812. 4

Question Number : 57 Question Id : 288607957 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0



Who is the inventor of the e-book?

(A) Jeff Bezos

(B) Michael Stern Hart
(C) Andries Van Dam
(D) Alan Kay

Options:

2886073813. 1
2886073814. 2
2886073815. 3
2886073816. 4

Question Number : 58 Question Id : 288607958 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Who is the developer of Boolean Logic?

(A) Alan Turing
(B) George Boole
(C) Allen Newell
(D) Herbert Simon

Options:

2886073817. 1
2886073818. 2
2886073819. 3
2886073820. 4

Question Number : 59 Question Id : 288607959 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

Which pattern is used for capturing the QR code using a camera for correcting the
distortion caused?

(A) Position Pattern
(B) Timing Pattern
(C) Finder Pattern

(D) Alignment Pattern

Options:

2886073821. 1
2886073822. 2
2886073823. 3



2886073824. 4

Question Number : 60 Question Id : 288607960 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Which of the followingis NOT an acronym for RSS?

(A) Rich Site Summary

(B) RDF Site Summary

(C) Really Super Syndication
(D) Really Simple Syndication

Options:

2886073825. 1
2886073826. 2
2886073827. 3
2886073828. 4

Question Number : 61 Question Id : 288607961 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: 0

The concept of 'folksonomies' is associated with:
(A) Blogging
(B) Social Tagging
(C) Chatting
(D) None

Options:

2886073829. 1
2886073830. 2
2886073831. 3
2886073832. 4

Question Number : 62 Question Id : 288607962 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: 0

NCIP stands for

(A) NISO Communication Interchange Protocol
(B) NISO Communication Intrachange Protocol
(C) NISO Circulation Intrachange Protocol
(D) NISO Circulation Interchange Protocol

Options:

2886073833. 1



2886073834. 2
2886073835. 3
2886073836. 4

Question Number : 63 Question Id : 288607963 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

Which one of the followingis the largest open education resources platform in India?

(A) e-PG Pathshala
(B) NPTEL

(C) e-GyanKosh
(D) Vidya-mitra

Options:

2886073837.1
2886073838. 2
2886073839. 3
2886073840. 4

Question Number : 64 Question Id : 288607964 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

In cMOOC. ‘¢’ stands for

(A) Connectivism
(B) Connectivity
(C) Combined
(D) Controlled

Options:

2886073841.1
2886073842. 2
2886073843. 3
2886073844. 4

Question Number : 65 Question Id : 288607965 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0



Which of the following advantages offered by e-Learning that does NOT apply to
xMOOC?

(A) Lifelong learning

(B) No space constraints

(C) Stdent-centric learning
(D) Saving the time of faculty

Options:

2886073845. 1
2886073846. 2
2886073847. 3
2886073848. 4

Question Number : 66 Question Id : 288607966 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

SurfWax and Dogpile are

(A) Semantic Search Tools and Databases
(B) Meta-Search Engines

(C) General Search Engines

(D) Web-Scale Discovery Services

Options:

2686073849. 1
2886073850. 2
2886073851. 3
2886073852. 4

Question Number : 67 Question Id : 288607967 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

An example of open access content sourceis

(A) HathiTrust

(B) Zotero

(C) DSpace

(D) iZito
Options:

2886073853. 1
2886073854. 2
2886073855, 3



2886073856. 4

Question Number : 68 Question Id : 288607968 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

RFID reader or Interrogator is a device which consists of:
(A) Microchip. Battery. and Antenna
(B) RFID label Printer. Server and External book return

(C) Serial Clock. Microwave and Package
(D) Antenna. Transceiver. and Decoder

Options:

2886073857. 1
2886073858. 2
2886073859. 3
2886073860. 4

Question Number : 69 Question Id : 288607969 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

DeLCONis a/an
(A) Repository of E-Resources
(B) Repository of E-Theses

(C) E-Resource Consortia
(D) Network of IITs

Options:

2886073861. 1
2886073862. 2
2886073863. 3
2886073864. 4

Question Number : 70 Question Id : 288607970 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

CSIR E-Journal Consortinm is now known as:

(A) National Knowledge Resource Consortinm
(B) CSIR-DST E-journal Consortium

(C) National E-resource Consortium

(D) CSIR-DST Digital Library Consortium

Options:

2886073865. 1



2886073866. 2
2886073867. 3
2886073868. 4

Question Number : 71 Question Id : 288607971 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

Traditional classroom learning is an example of:

(A) Asynchronous learning
(B) Synchronous learning
(C) Blended learning

(D) Transactional learning

Options:

2886073869. 1
2886073870. 2
2886073871. 3
2886073872. 4

Question Number : 72 Question Id : 288607972 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

‘What is the IEEE protocol standard for Personal Area Network (PAN)?

(A) IEEE 802.20
(B) IEEE 802.16
(C) IEEE 802.15
(D) IEEE 802.11

Options:

2886073873. 1
2886073874. 2
2886073875. 3
2886073876. 4

Question Number : 73 Question Id : 288607973 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0



Who is the publisher of the Scopus citation database?

(A) Clarivate Analytics
(B) Elsevier Science
(C) ScienceDirect

(D) EBSCO

Options:

2886073877.1
2886073878. 2
2886073879. 3
2886073880. 4

Question Number : 74 Question Id : 288607974 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

CrowdAsk is a modernized version of which of the following library service?

(A) Document Delivery
(B) Membership

(C) Inter-Library Loan
(D) Reference Service

Options:

2886073881. 1
2886073882. 2
2886073883. 3
2886073884. 4

Question Number : 75 Question Id : 288607975 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Which of the following is the ISO standard for library RFID system?

(A) ISO 28650
(B) ISO 15396
(C) ISO 15836
(D) ISO 28560

Options:

2886073885. 1
2886073886. 2
2886073887. 3



2886073888. 4

Question Number : 76 Question Id : 288607976 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

There are four types of data visualizations. namely:

(A) Declarative. Data-Driven. Exploratory and Conceptual
(B) Declarative. Data-Ink. Exploratory and Conceptual
(C) Declarative, Data-Link., Exploratory and Conceptual
(D) Declarative, Data-Chat, Exploratory and Conceptual

Options:

2886073889. 1
2886073830. 2
2886073891. 3
2886073832. 4

Question Number : 77 Question Id : 288607977 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: 0

SWAYAM stands for:

(A) Social Webs of Active-Leamning for Young Aspiring Minds
(B) Studying Webs of Active-Learning for Young Aspiring Moods
(C) Study Webs of Active-Learning for Young Aspiring Minds
(D) Statutory Webs of Active-Learning for Young Aspiring Minds

Options:

2886073893. 1
2886073834. 2
2886073895. 3
2886073836. 4

Question Number : 78 Question Id : 288607978 Question Type: MCQ Option Shuffling: No

Correct Marks: 1 Wrong Marks: 0
In the year 2011, the first truly massive response to an online open course was received by
a course on Artificial Intelligence which was offered by:

(A) George Siemens

(B) Stephen Downes

(C) Andrew Ng

(D) Sebastian Thrun and Peter Norvig

Options:



2886073897.1
2886073838. 2
2886073899, 3
2886073900. 4

Question Number : 79 Question Id : 288607979 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

NetworkX s a language software package for the creation, manipulation.
and study of the structure. dynamics, and functions of complex networks.

(A) Python

(B)R
(©) C

(D) Java

Options:

2686073301. 1
2886073902. 2
2886073903. 3
2886073904. 4

Question Number : 80 Question Id : 288607980 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Which of the followingis correct when knowledge converts from tacit to explicit?

(A) Socialization
(B) Externalization
(C) Combination
(D) Internalization

Options:

2886073305. 1
2886073906. 2
28860739307. 3
2886073908. 4

Question Number : 81 Question Id : 288607981 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0



Which one of the following copyright licenses is enclosed with a software in plastic-
wrapped packaging?

(A) Browse Wrap License

(B) Implied License

(C) Shrink Wrap License

(D) Express Written Confractual License

Options:

2886073909. 1
2886073910. 2
2886073911. 3
2686073912. 4

Question Number : 82 Question Id : 288607982 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Who propounded the theory of disruptive technologies in the year 20007

(A) Elon Mask

(B) John Fallon

(C) Clayton Christensen
(D) None of these

Options:

2886073913. 1
2886073914. 2
2886073915. 3
2886073916. 4

Question Number : 83 Question Id : 288607983 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

When was the National Repository of Open Educational Resources (NROER) launched?

(A) 13 August 2013
(B) 13 August 2014
(C) 13 April 2013
(D) 13 April 2014

Options:

2886073917. 1
2886073918. 2



2886073919. 3
28860733920. 4

Question Number : 84 Question Id : 288607984 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Based on capabilities, which one of the following types is NOT related to Artificial
Intelligence?

(A) Artificial Narrow Intelligence
(B) Artificial Simulate Intelligence
(C) Artificial General Intelligence
(D) Artificial Super Intelligence

Options:

2886073921. 1
2886073922. 2
2886073923. 3
2886073924 4

Question Number : 85 Question Id : 288607985 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

What was originally called the "Imitation Game" by its creator?

(A) LISP

(B) Logic Theorist
(C) Cybernetics
(D) Turing Test

Options:

2886073925. 1
28860733926. 2
2886073927. 3
2886073928. 4

Question Number : 86 Question Id : 288607986 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: 0

Who coined the term “Webometrics™?

(A) Vassily V. Nalimov and Z.M Mulchenko
(B) Almind and Ingwerson

(C) Alan Pritchard

(D) Blackert, Siegal and Nacke



Options:

2886073929. 1
2886073930. 2
2886073931. 3
2886073932. 4

Question Number : 87 Question Id : 288607987 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

What are the top biomedical search resources for librarians?

(A) JISTOR
(B) Science Direct, Web of Science
(C) Medline, PubMed

(D) Both (B) and (C)
Options:

2886073933. 1
2886073934. 2
2886073935. 3
28860733936. 4

Question Number : 88 Question Id : 288607988 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

The study of the quantitative aspect of production, dissemination and use of
Recorded information is called:

(A) Bibliometrics
(B) Blogometrics
(C) Cybermetrics
(D) Scientometrics

Options:

2886073937. 1
2886073938. 2
2886073939. 3
2886073940. 4

Question Number : 89 Question Id : 288607989 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0



ISBN changed from 10 digits to 13 from:

(A) January 2005
(B) January 2006
(C) January 2007
(D) January 2008

Options:

2886073941. 1
2886073942. 2
2886073943. 3
2886073944. 4

Question Number : 90 Question Id : 288607990 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Ontologyis

(A) A Documentation service

(B) An Indexing method

(C) Classification of Internet-based documents
(D) Cataloguing of Internet-based documents

Options:

2886073945. 1
2886073946. 2
2886073947. 3
2886073948. 4

Question Number : 91 Question Id : 288607991 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

Vidwan is a database of:

(A) Experts

(B) Newsclippings
(C) Theses

(D) Libraries

Options:

2886073949. 1
2886073950. 2
2886073951. 3



2886073952. 4

Question Number : 92 Question Id : 288607992 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

LYCOSisa/an

(A) Database

(B) Browser

(C) e-Book

(D) Web search engine

Options:

2886073953. 1
2886073954. 2
2886073955, 3
2886073956. 4

Question Number : 93 Question Id : 288607993 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Action for Development through Libraries Programme (ALP) is an initiative of:

(A) IFLA
(B) UNESCO
(C) OCLC
(D) ALA

Options:

2886073357. 1
2886073958. 2
2886073959. 3
2886073960. 4

Question Number : 94 Question Id : 288607994 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

Inference Engine is a part of which information system?

(A) Management Information System
(B) Expert System
(C) Decision Support System
(D) None of the above
Options:

2886073961. 1



2886073962. 2
2886073963. 3
2886073964. 4

Question Number : 95 Question Id : 288607995 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

An e-resource consortinm 'CeRA' is working in the field of:

(A) Astrophysics

(B) Astronomy

(C) Agriculture

(D) Anthropology
Options:

2886073965. 1
2886073966. 2
2886073967. 3
2886073968. 4

Question Number : 96 Question Id : 288607996 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

COMPENDEZX is the online Database on the subject of:

(A) Physics
(B) Library Science
(C) Analytical Chemistry
(D) Engineering
Options:

2886073969. 1
2886073970. 2
2886073971. 3
2886073972. 4

Question Number : 97 Question Id : 288607997 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

When did Chris Rusbridge coin the term ‘Hybrid Library’?

(A) 1968

(B) 1978
(C) 1988

(D) 1998



Options:

2886073973. 1
2886073974, 2
2886073975. 3
2886073976. 4

Question Number : 98 Question Id : 288607998 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

The predatory journals are

(A) Established and reputed ones in a subject area

(B) Publish applied research

(C) Charge APC for publishing the manuscript but do notundertake proper peer
review activities

(D) Publish fundamental research

Options:

2886073977. 1
2886073378. 2
2886073979. 3
2886073380. 4

Question Number : 99 Question Id : 288607999 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Citrix Virtual Apps and VMware are

(A) Visualization Software
(B) Wireless Network
(C) Virtualization Software
(D) Antivirus Software

Options:

2886073981. 1
2886073982. 2
2886073983. 3
2886073984. 4

Question Number : 100 Question Id : 2886071000 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O



ThePlagiarism is

(A) A violation of academic norms
(B) An offense against the author

(C) It applies to both licensed and unlicensed contents
(D) All ofthe above

Options:

2886073985. 1
28860733986. 2
2886073987. 3
28860733988. 4



